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I.Which is heavy ,which is light tick in the boxes.

Heavy
1. \

Il. Colour that part of the shape which is written side .

e

lll. Read the instruction complete the following .

1.

Using 6,4,7, 10 Using 1 tO 9
Numbers Numbers

IV. Write the Tables. 4% x2=9
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V.Complete the patterns.
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VI. Fields pictures are here.Find out the boundary and write in the box . 1%X2=3

6 metre

2 15 metre
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VII. See the Chart and answer the questions .
ﬂ How many children are acting in the drama 'm

This shows 3 chidren

* How many Singers singing in the school ?

* What is being done by most of the children?

[ Acting [ playing[ singing [ Dancing ] K /
2X4=8

VIII. Solve the following by divi;i:dn .
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IX. Using a price list and answer the questions .

Ttem == Price in Rs
St (per kg)

L o @ How much does 72 kg of tomatoes cost ?

Tomato ; °

Erhedne

Potato i i

Potate. 12 ¢ Which cost more 1 kg of onions or 1 kg of carrots ?

Onion ;ed;e; 10

Carro1: @555’3; 16 ’ .

ok g o Whatis the price of % kg of potatoes ?
X. Using a compass and draw circles .

2. Radius - 3cm

1. Radius -2 cm




